For WS-21-9 2021 EPOXY PAVEMENT MARKING PROGRAM
TYPE OF WORK PERFORMED August 11, 2021 August 27, 2021 March 15, 2021 \$102,732.45 Brickline, Inc. CONTRACTOR 4,703.05 CO#1 Various locations STREET FROM - TO TOTAL \$107,435.50 NO. 1 NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 **DESCRIPTION PREVIOUSLY COST WORK** COMPLETED COST WORK DIFFERENCE DIFFERENCE COMPLETED TO **PREVIOUSLY** COMPLETED DATE COLUMNS 1 & 3 COLUMNS 2 & 4 COMPLETED TO DATE Date approved by Board AMOUNT RECOMMENDED \$107,435.50 SEE COMPUTER PRINTOUT INVOICE # 210810 FOR DETAILS BOARD SIGNATURES INVOICE DATE: 8/10/2021 Check No. Voucher No. \$107,435.50 \$107,435.50 TOTALS 4300-32420-582840 \$107,435.50 \$107,435.50 PAYMENTS \$107,435.50 AMOUNT DUE, FINAL PAYMENT Council CITY ENGINEER

1&Final

TO BOARD OF PUBLIC WORKS City Engineer's Estimates

PAY ESTIMATE NO.: 1-FINAL

DATE: August 11, 2021

Contractor: Brickline, Inc.

Contract Amount: \$102,732.45

Change Order #1-FINAL: \$4,703.05

\$107.435.50

CONTRACT DATE: March 15, 2021 COMPLETION DATE: August 27, 2021

QUANTITY % OF WORK COST WORK OUANTITY COST WORK BID UNIT PREVIOUS PREVIOUS COMPLETED COMPLETED COMPLETED QUANTITY COST WORK ITEM UNIT QUANTITIES PRICE COMPLETED COMPLETED TO DATE TO DATE TO DATE DIFFERENCE DIFFERENCE ITEM DESCRIPTION NO. 18,294 \$0.55 \$0.00 19,338.0 \* 106% \$10,635.90 19,338.0 \$10,635.90 LF 1. Pavement Marking, Epoxy, 4-Inch Pavement Marking, Channelizing, Epoxy, 8-2,426 \$0.80 0 \$0.00 2,696.0 \* 111% \$2,156.80 2,696.0 \$2,156.80 I.F 2. Inch 1,154 \$9.25 0 \$0.00 1,283.0 \* 111% \$11,867,75 1,283.0 \$11,867.75 3. Pavement Marking, Stop Line, Epoxy, 18-Inch 50 \$10.50 0 \$0.00 450.0 \* 900% \$4,725.00 450.0 \$4,725.00 Pavement Marking, Stop Line, Epoxy, 24-Inch LF 4. 98% \$35,029.50 \$5.50 0 \$0.00 6,369.0 \* 6,369.0 \$35,029.50 5. Pavement Marking, Crosswalk, Epoxy, 6-Inch 6,471 427 \$8.10 0 \$0.00 623.0 \* 146% \$5,046.30 623.0 \$5,046.30 LF 6. Pavement Marking, Crosswalk, Epoxy, 12-Inch EA 17 \$125.00 0 \$0.00 16.0 \* 94% \$2,000.00 16.0 \$2,000.00 7. Pavement Marking, Island Nose, Epoxy 9.0 \* 100% \$1,665.00 \$1,665.00 EΔ 9 \$185.00 0 80.00 8. Pavement Marking, Arrows, Epoxy, Type 1 EA 31 \$210.00 0 \$0.00 34.0 \* 110% \$7,140.00 34.0 \$7,140.00 Pavement Marking, Arrows, Epoxy, Type 2 9. \$0.00 27.0 \* 113% \$7,560.00 27.0 \$7,560.00 EA 24 \$280.00 ٥ 10. Pavement Marking, Arrows, Epoxy, Type 3 EA 26 \$275.00 0 \$0.00 28.0 \* 1089 \$7,700.00 28.0 \$7,700.00 11. Pavement Marking, Words, Epoxy Pavement Marking, Railroad Symbol, Epoxy, 8.0 \* EA \$550.00 0 \$0.00 100% \$4,400.00 \$4,400.00 12. White \$2,257.00 \$0.00 244.0 \* 86% \$2,257.00 285 \$9.25 0 244.0 13. Pavement Marking, Curb, Epoxy, I.F Pavement Marking, Tape, 4" High Contrast 102 \$11.50 ٥ \$0.00 102.0 \* 100% \$1,173.00 102.0 \$1,173.00 LF 14. Recessed White Skips Pavement Marking, Parking Stall, Epoxy, 4-T.F 389 \$4.50 ٥ \$0.00 418.0 \* 107% \$1,881.00 418.0 \$1,881.00 15. Inch, White Pavement Marking, Diagonal/Edge, Epoxy, 8-58 \$6.25 0 \$0.00 55.0 \* 95% \$343.75 55.0 \$343.75 16. Inch. Yellow Pavement Marking, Diagonal/Edge, Epoxy, 6-0 4 0 50 96% \$511.50 LF 97 \$5.50 \$0.00 \$511.50 17. 93.0 Inch. Yellow Pavement Marking, Concrete Corrugated 144 \$8.50 0 \$0.00 158.0 \* 110% \$1,343.00 158.0 \$1,343.00 SF 18. Median, Epoxy I.F 520 \$2.55 0 \$0.00 0.0 \* 90 \$0.00 \$0.00 19. Remove & Repaint, Epoxy, 4-Inch Remove & Repaint, Channelizing Epoxy, 4-LF 260 \$2.55 0 \$0.00 0.0 \* 0% \$0.00 0.0 \$0.00 20. Inch \$14.50 0 \$0.00 0.0 \* 08 \$0.00 \$0.00 21. Remove & Repaint, Stop Line, Epoxy, 24-Inch LF 25 0.0 \$330.00 0 \$0.00 0.0 \* 08 \$0.00 \$0.00 2 0.0 22. Remove & Repaint, Arrow, Epoxy, Type 2 EA 0 0.0 \* 90 EA 2 \$410.00 \$0.00 \$0.00 \$0.00 23. Remove & Repaint, Arrow, Epoxy, Type 3 EA 1 \$400.00 ٥ \$0.00 0.0 \* 90 \$0.00 0.0 \$0.00 24. Remove & Repaint, Words, Epoxy TOTAL FOR CONTRACT WS-21-9 \$0.00 \$107,435.50 \$107,435.50 \$0.00 100.00% \$107,435.50 100.00% \$107,435.50 PAYMENTS

NOTE: ASTERISK (\*) DENOTES FINAL QUANTITY OR MEASUREMENT.

O.K. to Pay S.J.M., 8/11/21

## FINAL PAYMENT LIEN WAIVER

KNOW ALL MEN BY THESE PRESENTS that
WHEREAS, the undersigned BICKline Inc.
as General Contractor, entered into a Contract with the City of Manitowoc for the complete construction of
2021 Epoxy Pavement Markins
<u>contract</u> ws-21-9, and
WHEREAS, the undersigned has completed 100% of construction under the terms of the construction
agreement,
NOW THEREFORE in consideration of final payment by the City of Manitowoc to the undersigned
Bilcuine Tr. the undersigned hereby waives and releases any and all
liens, claims or rights to file any lien or liens to the extent of the payment above referred to against the City of
Manitowoc, and
The undersigned further states that all wages, materials, social security taxes, withholding taxes, sales
and use taxes, permits, sub-contractors and materialmen have been fully paid and discharged for all work
performed; workmen's compensation and other insurance premiums and all taxes have been fully paid and
discharged.
The undersigned further agrees to save harmless the City of Manitowoc from any matter or thing arising
from the filing of claims or liens by any workman, sub-contractor or materialmen in connection with the work
performed.
IN WITNESS WHEREOF, the General Contractor by its' authorized representative has caused this
waiver to be signed.
This 10th day of August, 2021.
Buckline Inc.
Contractor
Witness: Sava Schutty

Form #530

Invoice No.

210810

## BRICKLINE, INC. 3342 COMMERCIAL AVE. MADISON, WI 53714

PHONE: 608.244.5163 FAX: 608.244.5133

INVOICE

Customer					Misc	Г		
Name Address City Phone	City of Manitowoc 900 Quay Stree Manitowoc	State WI	ZIP 54220	Date Order No. Rep FOB	8/10/2021			
Qty		Description			Unit Price	TOTAL		
1	Re: WS-21-9 Epoxy Park Lump Sum Epoxy Park See Attached Detailed	avement Marking ement Marking			\$107,435.50	\$	107,435.50	
					SubTotal Shipping	\$	107,435.50	
Payment  Comments  Name	Select One			Tax Rate(s)	TOTAL	\$	107,435.50	
CC # Expires		e Only						
TERMS: NET 30 DAYS								

_			•	>		19338	ጉ	10,635.90
<b>T</b>	Fpoxy 4-Inch	ኽ		C:55	-	-	·	ט זבג פו
2	Epoxy 8-Inch Channelizing	ቭ	❖	0.80		2696	Α.	C,130.00
	Epoxy 18-Inch Stop Line	F	\$	9.25		1283	÷	11,867.75
	Epoxy 24-Inch Stop Line	F	↔	10.50		450	<b>⊹</b>	4,725.00
5	Epoxy 6-Inch Crosswalk	듀	<b>⋄</b>	5.50		6369	❖	35,029.50
6	Epoxy 12-Inch Crosswalk	F	\$	8.10		623	\$	5,046.30
<b>m</b>	Epoxy Island Nose	EACH	❖	125.00		16	\$	2,000.00
<b>В</b>	Epoxy Arrow Type 1	EACH	❖	185.00		9	<b>\$</b>	1,665.00
9	Epoxy Arrow Type 2	EACH	❖	210.00		34	\$	7,140.00
10 E	Epoxy Arrow Type 3	EACH	₩.	280.00		27	\$	7,560.00
<u>-</u>			❖	275.00		28	\$	7,700.00
	Epoxy Word	EACH		E E O O O		<b>∞</b>	❖	
	Epoxy Word Epoxy Railroad	EACH	÷	00.00				4,400.00
	Epoxy Word Epoxy Railroad Epoxy Curb	EACH LF	<b>ሉ</b> ሉ	9.25		244	\$	2,257.00
	Epoxy Word Epoxy Railroad Epoxy Curb Tape 4-Inch	EACH EACH LF	w w w	9.25		244 102	S S	4,400.00 2,257.00 1,173.00
	Epoxy Word Epoxy Railroad Epoxy Curb Tape 4-Inch Epoxy 4-Inch Parking Stall	EACH LF LF	w w w w	9.25 11.50 4.50		244 102 418	<b>\$</b>	4,400.00 2,257.00 1,173.00 1,881.00
	Epoxy Word Epoxy Railroad Epoxy Curb Tape 4-Inch Epoxy 4-Inch Parking Stall Epoxy 8-Inch Diag/Edge	EACH LF LF	w w w w	9.25 11.50 4.50 6.25		244 102 418 55	<b>&amp; &amp; &amp;</b>	4,400.00 2,257.00 1,173.00 1,881.00 343.70
	Epoxy Word Epoxy Railroad Epoxy Curb Tape 4-Inch Epoxy 4-Inch Parking Stall Epoxy 8-Inch Diag/Edge Epoxy 6-Inch Diag/Edge	EACH LF LF	<b>~</b> ~ ~ ~ ~ ~ ~ ~ ~	9.25 11.50 4.50 6.25 5.50		244 102 418 55 93	<b>\$</b> \$ \$ \$ \$ \$	4,400.00 2,257.00 1,173.00 1,881.00 343.75 511.50
	Epoxy Word Epoxy Railroad Epoxy Curb Tape 4-Inch Epoxy 4-Inch Parking Stall Epoxy 8-Inch Diag/Edge Epoxy 6-Inch Diag/Edge Epoxy Conctete Corrugated	EACH LF LF SF	w w w w w w	9.25 11.50 4.50 6.25 5.50 8.50		244 102 418 55 93	<b>\$\phi \phi \phi \phi \phi \phi \phi \phi </b>	4,400.00 2,257.00 1,173.00 1,881.00 343.75 511.50 1,343.00
	Epoxy Word Epoxy Railroad Epoxy Curb Tape 4-Inch Epoxy 4-Inch Parking Stall Epoxy 8-Inch Diag/Edge Epoxy 6-Inch Diag/Edge Epoxy Conctete Corrugated Remove & Repaint 4-Inch	EACH LF LF SF	w w w w w w	9.25 11.50 4.50 6.25 5.50 8.50 2.55		244 102 418 55 93 158	<b>**</b> ** ** ** ** ** ** ** ** ** ** ** **	4,400.00 2,257.00 1,173.00 1,881.00 343.7! 511.50 1,343.00
	Epoxy Word Epoxy Railroad Epoxy Curb Tape 4-Inch Epoxy 4-Inch Parking Stall Epoxy 8-Inch Diag/Edge Epoxy 6-Inch Diag/Edge Epoxy Conctete Corrugated Remove & Repaint 4-Inch Channelizing	EACH LF LF SF	~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~	9.25 11.50 4.50 6.25 5.50 8.50 2.55		244 102 418 55 93 158 0	* * * * * * * * *	4,400.00 2,257.00 1,173.00 1,881.00 343.79 511.50 1,343.00
	Epoxy Word Epoxy Railroad Epoxy Curb Tape 4-Inch Epoxy 4-Inch Parking Stall Epoxy 8-Inch Diag/Edge Epoxy 6-Inch Diag/Edge Epoxy Conctete Corrugated Remove & Repaint 4-Inch Remove & Repaint 4-Inch Channelizing Remove & Repaint 24-Inch Stop Line	EACH LE LE LE LE	~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~	9.25 11.50 4.50 6.25 5.50 8.50 2.55 2.55		244 102 418 55 93 158 0 0	<b>\$ \$ \$ \$ \$ \$ \$ \$</b>	4,400.00 2,257.00 1,173.00 1,881.00 343.7! 511.50 1,343.00
	Epoxy Word Epoxy Railroad Epoxy Curb Tape 4-Inch Tape 4-Inch Parking Stall Epoxy 8-Inch Diag/Edge Epoxy 6-Inch Diag/Edge Epoxy Conctete Corrugated Epoxy Conctete Corrugated Remove & Repaint 4-Inch Remove & Repaint 4-Inch Channelizing Remove & Repaint 24-Inch Stop Line Remove & Repaint Arrow Type 2	EACH  EACH  LF  LF  LF  SF  EACH	~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~	9.25 11.50 4.50 6.25 5.50 8.50 2.55 2.55 14.50		244 102 418 55 93 158 0 0	<b>\$</b> \$ \$ \$ \$ \$ \$ \$ \$ \$	4,400.00 2,257.00 1,173.00 1,881.00 343.79 511.50 1,343.00 - -
	Epoxy Word Epoxy Railroad Epoxy Curb Tape 4-Inch Epoxy 4-Inch Parking Stall Epoxy 8-Inch Diag/Edge Epoxy 6-Inch Diag/Edge Epoxy Conctete Corrugated Epoxy Conctete Corrugated Remove & Repaint 4-Inch Channelizing Remove & Repaint 24-Inch Stop Line Remove & Repaint Arrow Type 3	EACH  EACH  LF  LF  EACH	~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~	9.25 11.50 4.50 6.25 5.50 8.50 2.55 2.55 2.55 14.50 330.00		244 102 418 55 93 158 0 0	<b>*</b> * * * * * * * * * * * * * * * * * *	4,400.00 2,257.00 1,173.00 1,881.00 343.7! 511.50 1,343.00

## CITY OF MANITOWOC CONTRACT NO WS-21-9

## 2021 EPOXY PAVEMENT MARKINGS Finals

ITEM ITEM DESCRIPTION NO.	UNITS	BID QUANTITY	S. 26TH ST CALUMET/CUSTE R INTERSECTION	S. 26TH STREET	S. 21ST STREET	MEADOW LN.	N. BTH ST. WALDO TO 600' N. OF MAGNOLIA	N. 8TH ST. WALDO TO PARK	MICHIGAN AVE	N. RAPIDS ROAD	S. 30TH STREET
S. 26TH ST/CALUMET/CUSTER INTERSECTION S. 26TH STREET - FRANKLIN TO CALUMET AVE. S. 21ST STREET - MARSHALL TO CLARK ST. MEADOW LANE - S. 26TH ST. TO S 35TH ST. N. 8TH STREET - WALDO BLVD. TO 600 FEET N. OF MAGNO N. 8TH STREET - PARK ST TO WALDO BLVD. MICHIGAN AVE N. 23RD ST TO INDIAN BLUFF DR. N. RAPIDS ROAD - BROADWAY TO NORTH 300 FEET S. 30TH STREET - CALUMET AVE. TO DIVISION ST.											
1. Pavement Marking, Epoxy, 4-Inch	LF	19,338	2,763	177	1,391	1,058	1,222	1,125	7,594	518	3,490
2. Pavement Marking, Channelizing, Epoxy, 8-Inch	LF	2,696	1,430		546	28	295	77		258	62
3. Pavement Marking, Stop Line, Epoxy, 18-Inch	LF	1,283	449	54	180	300	108	166			26
4. Pavement Marking, Stop Line, Epoxy, 24-Inch	LF	450		287	23					140	
5. Pavement Marking, Crosswalk, Epoxy, 6-Inch	LF	6,369	1,152		1,210	1,960	581	1,322			144
6. Pavement Marking, Crosswalk, Epoxy, 12-Inch	LF	623					425			198	
7. Pavement Marking, Island Nose, Epoxy	EA	16	13		2	1			·		
8. Pavement Marking, Arrows, Epoxy, Type 1	EA	9	3		4		2				
9. Pavement Marking, Arrows, Epoxy, Type 2	EA	34	13		7	1	8			3	2
10. Pavement Marking, Arrows, Epoxy, Type 3	EA	27	5		14	1	2			3	2
11. Pavement Marking, Words, Epoxy	EA	28	15		5		5			2	1
12. Pavement Marking, Railroad Symbol, Epoxy,	EA	8			4	2			2		
13. Pavement Marking, Curb, Epoxy,	LF	244	224		20						
14. Pavement Marking, Tape, 4" High Contrast Recessed White Skips	LF	102	102								
Pavement Marking, Parking Stall, Epoxy, 4- Inch, White	LF	418						418			
16. Pavement Marking, Diagonal/Edge, Epoxy, 8- Inch, Yellow	LF	55	55					1			
17. Pavement Marking, Diagonal/Edge, Epoxy, 6-Inch, Yellow	LF	93		93							
Pavement Marking, Concrete Corrugated Median, Epoxy	SF	158			102	56					
19. Remove & Repaint, Epoxy, 4-Inch	LF	0									
20. Remove & Repaint, Channelizing Epoxy, 4-Inch	LF	0									
21. Remove & Repaint, Stop Line, Epoxy, 24-Inch	LF	0									
22. Remove & Repaint, Arrow, Epoxy, Type 2	EA	0									]
23. Remove & Repaint, Arrow, Epoxy, Type 3	EA	0									
24. Remove & Repaint, Words, Epoxy	EA	0									